ot ury

710|1=

2o @10, 312, @16, 820, @25

NGP

@ HIolASR
M : 0Tl
L 1 ERA0

Q@ REZE
10 : A2IE LHZ 10mm
12 A2IE d 12mm
16 @ A2IE WA 16mm
20 : A2IH LHZA 20mm
25 1 A2IH LA 25mm
32 @ Al2IE W 32mm
40 @ A2IE WA 40mm
50 : Al2IE WA 50mm
63 : Al2IE WA 63mm

20/-(50

@ H8if #FAERS
105,10, 15,20

12 110, 20, 30, 40, 50, 75, 100, 125, 150

16 : 10, 20, 30, 40, 50, 75, 100, 125, 150, 175, 200
20 1 20, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250, 300
25 1 20, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250, 300
32 125,50, 75, 100, 125, 150, 175, 200, 250, 300
40 : 25, 50, 75, 100, 125, 150, 175, 200, 250, 300
50 : 25, 50, 75, 100, 125, 150, 175, 200, 250, 300
63 : 25, 50, 75, 100, 125, 150, 175, 200, 250, 300

@ LEALR|
AYAK : D-AK QEAQIR| H5¢
AQAX : D-AQAX PRE 2MAl
AOUXN : S BHANPN)
AQAX-P 1 SEE 3MAIPNP)

e S s

® QEAYR| 27|15
2715 ¢ pRa
S 17 B
N: N7 824t

©® FEAEMY

JUTE

¢ LQEAQIX| EH

= e iy Ab S A &y H| 2
D-AY4K oxx +%Y J=0E NGPM(L) B4 Ay AT0IME 4
(2194) DCBV ~ AC230V .

D-AY4K-V = SR IZHE ofl) NGPM 20-55-A94K

D-A94X SEE 2MAl DC24V - 75AE23 HEZM| A0 20mm &2
D-A4X-N SR 3MA DC24V NPN 274 LED

THO 9= xl':";\?;)\l':

D-A94X-P PR 364 DC24V PNP

¥ QEALIX| JZ0|E : D-AMK :

176 YPC

1M, D-A%K-L3 : 3M, D-A94K-L5 : 5M




nois s= uy szn NGP

¢ HISAIY

5211 (mm) 10 [ 2] 1w ]2 [25]3]4]5]e6 =
RS 253 £
VLT 2| In
ST 15MPa ]
FIAEYY 1.0MPa oft
Z| A 0.12MPa 0.1MPa b

Z9 U ABSAISE —10~60°C(E, SZgI010F &) -
A8 MAE 227 50~500mm/s [50~400mm/s
=4 U= 2t 24
e 2L2(229)
AEZ3 Zolo| &gt o

F) FRot Alef S=gLch

& HEFHY

EHLHZA (mm) HZEAEZI(mm)
10 5,10, 15, 20
12 10, 20, 30, 40, 50, 75, 100, 125, 150
16 10, 20, 30, 40, 50, 75, 100, 125, 150, 175, 200
20, 25 20, 30, 40, 50, 75, 100, 125, 150, 175, 200, 250, 300
32~63 25,50,75,100,125,150,175,200,250,300
AH|O|M A Mg SHS(-XRI)
oy | BE AE230] MRlC| AHOIMS RS0l thS | X1y AE23 HB0| SHE M0 S
- @12~@32 D imm M| AERT S - M ARO|= Amm M| AEZST S
- @40~ @63 : 5mm Mo| AEZT IS
ZEEN HEE ZHo| SMEAYHS Fxdl FHAIL.
52 AE=o @12, 316 1~150 @12, 316 11~249
(mm) @20, @25, 332 1~200 @20, @25 21~399
@40~ 363 5~200 @32~ 963 26~399
ZH : NGPM20-39 ZH | NGPM20—-39-XR9
o MGPM20-400] 1= ATOIAIE B3, 39 AE23 T8 BHE HE.
C X|4= 77mm C X|$= 76mm
ouT IN
*» Z0|EXE (=-0—=
IS A/ SEUH | ZEXIE | AE | 4YHY A2 (MPa)
—XRI Jlole B2E & 2EHiE (mm) (mm) e (mm?) | 02[03]04]/05[06|07|08|09]|1.0
-XR5 ROD SUSKHZIHZ 0 6 out M3 | 23|34 |45|57 (68|79 |90 102113
-XR8 LEE A2y IN 85 17 25|34 42|51|59|68|76]|85
-XR9 RUAERT HMBEF © 8 out 201 |40 | 60 | 80 | 101 | 121 | 141 | 161 | 181 | 201
—XR20 |2 2lH0|Y HiH @25~ @50 HEME) IN 151 30 | 45|60 | 75 | 90 [106| 121 | 136 | 151
—-XR30 SHE7IAIY 20 0 out 314 | 63|94 |126]157 [188]220| 251 | 283 314
IN 236 | 47| 71|94 |18 141165188 ] 212|236
(2E2lHO0| AERE) s 0 out 491 | 98 | 147 | 196 | 245 | 295 | 344|393 | 442 | 491
IN 412 | 82 124|165 | 206 | 247 | 289|330 | 371 | 412
A » “ out 804 | 161 | 241|322 402 | 483|563 |643 | 724 |804
\ — IN 650 | 130|195 | 260|325 |390 | 455|520 | 585 | 650
AY _@_ _@_ ] 0 ” out 1257 | 251|377 503|628 | 754 |880 [1005| 1131 [1257
& & IN 1103 | 221331441551 662 | 772 | 882|992 |1103
5 0 out 1963 393 (589|785 |982 |1178(1374 | 1571|1767 1963
T T IN 1709 | 342|513 |684 855 [1025(11961367(15381709
*:Wﬁ & - out 3117|623 ]935 [1247 |1559(1870 |2182|2494[2806)| 3117
B . . - IN 2863 | 573|859 |1145(1431|1718 2004[2290[2576[2863

F) OIZE(N) = Y2(MPa) x T (mm?)LICE

www.ypc.co.kr 177



¢ 220 X

» NGPM @10 * TERE

= HIoy x| Ha [=E=T=] X
DEOMB® ®EODOHOOOBE 22| 758 WES I 2 S A I
i 81 |esomE3 | zugsool | o [sagense| ead  |Uds3 06939
2 | oo | zEnmEs|  3m0dE S%7yRREE | ©Ay  |Udc3 00929
3 DAE U20lE EF 32H0|E 10 |20 824742 £y e
- i Vi 4 | mAE=c | AfQREAZ i i 3
olz2p|s 52 E gpol IS XA -
y 5 | otz | 22008 83 [32W0E 060l 32 | 2 r ]
AH€QI2]AZ 3109 32 13 Al S 0
or;u = éﬂ%l 0|E. 0| 742 [l B4
Q} Q} 6 | magoy |2 I& A2H0IE 06 AR | 14 72_ ] NBR
AHI2|AZ g100] 2 B | DAETY NBR
(D 7 | Jolgzs e Auaze= | 6 0-ring NER
L4 N 8 | =d0E |osomaa| zausuoE
» NGPM @12 ~ @16 » NGPL @20~ @63
8 —— T[] ] — }
©
0 —
B ~®
& .:M':. .:M':.
Wany — Wan WanY
] b 24 ] b 24
St =z ah=d o e
Zj % AN T AT %
N / 7 j
[ / 47 7
 E— 7 | E—
] e/
50 A=23 0f5t 100 A2 21}
— 4]
| E— /
i e
50 AEZ23 Zx1t
s EEE o Wt E IHZNE
Hs 2E2% e b Hs 229 THE b s = =l A
1 = UZ0lE EF FA YZ0p|E 13 B SYE 1 @12 M2 | NGPM-12-PS |
2 | moa | 9sosEE | FRdoE | W | xA - 2 | oeuEs | Newteps | TLEN
3 IAE L=20l5 82 EEL IS 5 | HAEIY NBR 3 @20 A2H | NGPM-20-PS | = Mfilé'
4 = 7 U205 BF EELIS 16 TIAZA NBR 4 @25 2l | NGPL-25-PS
5 | mAE== | AdpRRIA 17 JHAHB NBR 5 | @342 | NGPL-32-PS
6 Jlole 22 EtAZ pASE g 18 2c 1y NBR 6 @40 M2IE) | NGPL-40-PS
7 E0|E By Uz =g 19 | DingHoE | HoE E3 7 350 M2IEf | NGPL-50-PS
8 | JNIEE E2E Etazt [Sep==s 2 e e LHca
9 [EB0lE MXIEE|  EAZ [BE== SUTYRA EE
10 A EtA 37% QIAKA mjat 2 Ad Ehr 21 QIA mat
1 A EA 37% QA m|2t 2 E2A
12 HmA e 23 AHOIN UZ0|EEF

178 YPC



¢ 220 X

> SERI7IS(REIIE0IL) LHE H2IH AP @wx

NGP | Hiofd 35 || FELZ

EHL{Z(mm) 25,32,40,50 (BEXR)
EfSHIA| 253
F|MARR 0.15 MPa
Sl UE 2 M

X447 0l2le] M2 HE 7|2¥nt S LTt

J [ AEZ3 M XR33 J XR33 | BERA7[S(RE2|E0|H) LHE

KX

=i x M2 A2|= NGPL
- W |- AE23 |
CR-NGPL | BHLiZ |- AERS Hol 55 & 24l Hof
5 amm) | 121620 | 25]32] 405063
AEZ3(mm) | 10~200 | 20~200 25~200
» NGP @10
O5IAERT @A TS 8 .
2305 TS . [50_ I9+AEZS CB 07520005 FMOTZHOIS
[=245] 106+AEZS 211 BiE
(Ftol=5 ofjofuli7|)
() §] | (c ?( 7an Yo¥a
\\ N AN
T*Q C,ﬁ P = ——1
ol o — ﬁi\ ©| o ol ol
S q © @ =
@ 41 [ Jiexze)
A\ Ll N PAAN:
2305
0 86 |maeesa Az 75
15

www.ypc.co.kr 179

S|
2
n
]
off
=z
@
0




¢ 220 X+

» NGP @12~20

XXE A M| = Z_ WA XAH1DP6 T= Xl
B
[l ]
= & &
& S
a0 oF
3 i (mm)
:v s =
ot P >\¢ 9 = "(i i);é‘ a|lb|lc|d]e
- ] 12 |44 | 7437|2062
J 16 44 174 |37 |25 |67
M 20 54|84 |45 |28 |78
4y ZlojvL
el
A+ST
B+ST L
FA
ANNEE r
XX FB C+ST
‘& Lz wa
T % 1
10> 5 g
<
f >_ o 1wy © "
00|
Hlal= 4 \() 1 2l 2 x| > |
T T g[ A
[ i W u— & o]
a4 o [ f s
/ Q GA GB | \2-P XAH71DP6 PB B
XAHDP6 s 2-P PA K TS
4 pOA B
4-0Bdp C.Bdp OL
NGPM -NGPL SEX|+H mm
A
el BEAERS NGPM NGPL *
o) = B | C |DA E|m|FmB|G|G|GB
=, | 50st =3} | 100st =2t | 50st X2t | 100st Z2}
508t 01t | 1301 ofst | 200st 013t | 205! °1°F | 100ss ol 2008t ol NERY] MERL
10, 20, 30, 40, 50,
12 e e 615 835 2| 29| 6|10 87 |6 |26 1”]|10
10, 20, 30, 40, 50, 75,
16 100, 125, 150, 795, 200 4% 655 935 46|33 | 8|10 2|8 |5 |34l
20, 30, 40, 50, 75, 100,
| s e s e 5 53 8 95 |53 |37 |10 | 1|10 |29 |7 |36|1|95
L
E-HIjA
"(;n:'f H | HA| J | K NGPM NGPL MM W [oa|OB|OL| P |P|PB
508t Ol 50st £t | 100st Z2t 505t Ot 50st &3t | 100st Z1t
100st 0fat | 200st Olat 100st 0f3t | 200st O[3t
2 |88 |m| 3|7 o 195 45 Mdx0.7 DPI0 | M4x07 | 43 | 80 | 45 | M5x08 | 15 | 8
6 |6 | M| B 15| 0 195 a5 M5x0.8 DPI13 | M5x0.8 | 43 | 80 | 45 | M5x08 | 15 | 10
20 [8|Ms5| 18| 17 0 28 25 | M5x08DP13 | M5x0.8 | 54 | 95 | 55 | RC1/8 | 22 | 1
e WA WB
) | WL Q| RS T U VA VB a0st [a0s Z2H 505t £2Hi00s ZBH o o [30st 3 605 22t 1005t 22 X | XA [ 3B | W ML 2
of5+ | 50st 0[5 [100st 0[5H200st OI3H 50st 0la} |100st 0[5H200st 0l3H
2 |8 |u|as|2|5|o| 0|57 40 110 15 %5 60 | 23| 3 |35|M5x08| 10| 5
B | 2|16 |5 |25 |63|4|%|38|x 44 110 17 o7 60 | 24 | 3 |35|M5x08| 10| 5
20 |25 |18 |70 |30 |8 |54| 72| 44| 24 44 20 | 29 39 77 | 28| 3 |35|Mexti0| 2 | 17

180 YPC




ag NGP

Jtol

n
4n

b
|

=5

114

¢ 220 X

g
—_—
2
n
» NGP @25~32 [
£
oft
XXE AM|E z WA XAH1DP6 -
WB @
o
[l T
]
7
A o ~| K
0 2 %) S| (mm)
77 i =, |7 E5gE b P
o 5 o0 o E2 (mmy_ | ° ¢ N
) = b —W 25 54 84|45 |33|85
32 6.5 (105]55 (38|98
i |
XX
4-YY 210JYL
Elubs
A+ST
B+ST L
~ FA
4-NN Z#HE FB C+ST
XX Z WA 4-MM
T b] i ]
1 @
1N
<8 OF O]
| x| =< @@ ‘Q(I =| 2
i
1 /& 8
o, 4 “
I i XAHDP6
XADP6 Q < CBE N ap Loz 5
s 2 pon /2P PA J K
4-0Bdp C.Bdp OL 6
NGPL SEX|H
= EZAE2S A
ua () ostost | RSUED [ S0z [ioostxnt [ 200 xa | B C | DAYDB E ) FA)FB G GAGEH
(mm) 30sOIBE | 50 ofst | 100st OlF | 200st 05t | 300st 0I5
20, 30, 40, 50, 75, 100,
% | o6 150,175 200, 250, 300 | 603 843 102 M9 |535|375| 10 | 133 | 10| 6 |4 |15 109
25, 50, 75, 100, 125,
R | 15075 200, 250, 300 705 1034 1132 M2 |595|375| 14 | 16 | 34 | 2 | 10| 48 | 125|151
F2 L
MB | RA K e | OSET [ SOsUER |00 AT | 2008 AT MM NN | OA|OB|O | P |PA|PB|PW
(mm) 50st O[5t | 100st 0I5t | 200st O[5t | 300st Ofst
%5 | M5 | 2t | 20 | 68 308 485 655 MBXL.ODPI3 | Mex.0 | 54 | 95 | 55 | RC1/8 | 25| 14 | 30
2 | Mo | 2 | 23 1 \ 439 537 707 M8x1.25DP20 | M8xi25 | 67 | 11 | 75 | RC1/8 | 28 | 16 | 355
£y WA w8
Wa | Q| R| S| T|U|VA|VBong|o5sxa| 30st X2} | 100st X2} | 200st 22} | 25st | 25st X1t | 30st 2} | 100st X2t [ 200st =2f | X | XA | XB| YWY YL | Z
(mm) olat | 30st 0f5F | 100st 0fat | 200st Olat | 300t 01t | Olt | 30st Ofa | 100st Of5F | 200st 0f5 | 300st OJ5H
25 | 26(78|38| 9164|8250 24 44 120 200 29 39 7 1w |34] 4 |a5| Mexio | 12|17
32 |30|96|44|110| 78|98 |63 2% 48 124 200 33 45 83 2 |42| 4 |a5|mex25]| 16 | 21

www.ypc.co.kr 181



¢ 220 X+

» NGP @40~63
XXE AN E z WA XAHDP6 T= X%
WB
] ]
] |
Fan) / (1
[ | = (mm)
E f;; d e
U X,
= g 40 |65 [105]55] 4 | 11
@ &> @ 50 |85 [135[ 7545 [135
- —1 63 11 |17.8| 10 7 1185
[ ]
XX
4-YY 210]YL
YHE
A+ST
B+ST L
FA
4-NN #E FB C+ST
XX VA WA
[T @] [ [
g *’g}
A 5 ] —7NY Ne—
H‘ 7
S
o < 1—@3{ 5 5 | = 15‘
w
f] z
[ L
O {} g[ ‘@f 4 ! =
e e N 3,
| — i XAH7DP6
XAH7DP6 Q GA LGB \2-P Lﬂ. =
S 2-P PA J K
4-90A c
4-0Bdp C.Bdp OL
NGPL SSX|+H mm
TErf HEAERZT 2
L3 ) sosofst | SOt EM [ foostxm [ voszg | B C ) DAYDB Y E | FAFE G GAY G H
(mm) ° 100st O | 200stOfst | 300st 0fsk
0 705 1034 1132 130.2 66 | 44 | 14 | 16 | 40 | 12 | 10 | 54 | 142 | 142 | 120
T 25,50, 75,100, 125,
50 | 150,175 200, 250, 300 88 5 1335 160.5 72| 44|20 |2 |46 | 13|15 |64 15| 13|18
63 88 115 1335 160.5 77| 4 |20 | 20 |58 | 13| 15 | 78 |155|135]| 162
L] L
WA | HA J K 5061 Ot 50st &1} 100st &1} 200st Z2 MM NN OA | OB | OL P PA | PB | PW
(mm) 100st 05t | 200stoOlst | 300st Ol5t
0 | M6 | 27 | 2 45 374 472 64.2 MBx125DP20 | M8xi25 | 67 | 11 | 75 | RC18 | 31 | 18 |395
50 | M8 | 32 | 3t 16 3 615 885 MIOXL5DP22 | Mioxi5 | 86 | 14 | 9 | RCY/4 | 35 | 215 | 47
63 | M0 | 39 | 38 1 38 56.5 85 MIOXL5DP22 | Mioxi5 | 86 | 14 | 9 | RC1/4 | 35 | 28 | 58
=) WA WB
W8 Q| R[S | T | U]JVA|VB | 5[ o5t 100st Zaf | 200st Z2f| 256t | 256 Zaf [100st 2| 200st x| X | XA | XB | W | YL | Z
(mm) olat [100st 0I5t | 200st 0I5+ | 300st OI3t| O[5t | 100st Ol5t | 200st 0I5t | 300st 0f5t
40 |30 [104| 44 |18 | 86 [106| 72 | 24 | 48 124 200 | 34| 46 84 122 | 50 | 4 | 45 | M8x125 | 16 | 22
50 | 40 |130 | 60 | 146 | 110 | 130 | 92 | 24 | 48 124 200 | 36| 48 86 4 | 66 | 5 | 6 | MIOXI5 | 20 | 24
63 | 50 |130| 70 | 158 | 124 |12 | 10 | 28 | 52 128 200 | 38| 50 83 24 | 80 | 5 | 6 | MIOXI5 | 20 | 24

182 YPC






